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* “S” values given for α = .05                          Values taken from (Friedman, 1982 & Cohen, 1988), with some interpolation. 

 
 
 



 
Calculating S to use the power table 
 

Statistical Model             Defining S          Calculate S for post hoc power analyses^           Sample size estimates for a priori power^ analyses 
 
Correlation    Total # of participants   S = df + 2  = N                                        N = S 
2x2 Χ²   Total # of participants   S = Sf  = N         N = S 
kxk Χ²   # participants in any 2 groups  S = N = n*2 = (N/k)*2        n = S/2 @ condition        N = n*k 

2-BG ANOVA  Total # of participants   S = N = dferror + 2              n = S/2 @ condition        N = n*2 = S 

k-BG ANOVA          # participants in any 2 groups  S = n*2 = (N/k)*2 = ((dferror+k)/k)*2              n = S/2 @ condition  N = n*k 

2-WG ANOVA* Total # of participants   S = dferror + 1  = N                               S @ condition    N = S 
k-WG ANOVA* Total # of participants   S = (dferror + (k-1)) / (k-1)                     S @ condition    N = S 
 
^ N = total number of participants, n = average number of participants in each condition 
*  for WG designs N refers to # of participants, each of which provides data in all design conditions. 
 
 
 
 
Calculating r  to use the power table 
 

Statistical Model             Intermediate Calculations        r 
                                   

2x2 Χ²            √ (Χ² / N) 

kxk Χ²            √ (Χ² / (Χ²+ N)) 

2-BG ANOVA                               √ (F / (F + dferror))              

k-BG ANOVA                                   

     omnibus-F                         √ ((dfeffect * F) / ((dfeffect * F) + dferror))              

     pairwise comparisons             d = (M1 - M2) / √ MSe                                              √ (d² / (d² + 4)) 

2-WG ANOVA                      √( F / (F + dferror)) 

k-WG ANOVA            

omnibus-F                         √ ((dfeffect * F) / ((dfeffect * F) + dferror))                                  

pairwise comparisons                 d   = (M1 - M2) / √ MSe           dw =  d * √2                              √ (dw² / (dw² + 4)) 
 


